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Questions for next session

1.  Which two methods are compared in this paper? Explain the methods.
2.  Whatis the game set-up?
What's the ISO problem?
What are the players actions?
3. Explain the case of two agents Nash equilibrium.
4. Explain Figure 4 and 5.
5. Explain the case of 3 agents Nash equilibrium.
1. Why G3 is not considered?
6. Explain Figure 7 and 8.

7. Which parameters influence the evolution of the game?
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Figure 4: Evolution of the ()-function for (73 (2 active agents)

Figure 7: Evolution of the @-function for G1 (3 active agents)
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Figure 5: Evolution of the (-function for 7 (2 active agents) Figure 8: Evolution of the Q-function for G (3 active agents)



